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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 000 ~ 723 92.04 | =hdst | 0oo ~ 000|163 8.71 Zzh s 1.00 | 5.00 ~ 9.80 92.04 | =0 | 5.00 ~ 9.80 | 1.63 871
2 100kN/mM%#8Z5 | 1.00 | 0.00 ~ 1.71 126.20 |3mEBAD| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.08 ~ 1879 | 126.20 |3mEHEZS - ~ — — —
Zhst 100|171 ~ 949 100.00 | #ns | 0.00 ~ 949|222 11.86 Fhs 1.00 | 5.00 ~ 11.08| 100.00 | =ns | 500 ~ 1879|2.22 11.86
3 100kN/m#%#BZ5| 1.00| 000 ~ 1.87| 12875 |3mZEBZ5| — ~ — — — | 100kN/m%#BZ% | 1.00 | 11.85 ~ 2420 | 12875 |3mEHEZD -~ — — —
ZhnLst 1.00 | 1.87 ~ 9.65 100.00 | #nLS | 0.00 ~ 9.65| 2.44 13.08 Zh st 1.00 | 5.00 ~ 11.85| 100.00 | #ns | 5,00 ~ 2420\ 2.44 13.08
4 100kN/mM%#BZ5| 1.00 | 0.00 ~ 221 154.81 |3mEBAB — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.28 ~ 2490 | 154.31 |3m&EHBZB - ~ — — —
Zh st 1.00 | 221 ~ 999 100.00 | Fhilst | 000 ~ 999 | 2.50 13.37 Fhs 1.00|5.00 ~ 11.28| 100.00 | =ns | 5,00 ~ 2490 | 2.560 13.37
5 100kN/m#%#BZ25| 1.00| 000 ~ 1.76| 12694 |3mZEBzB| — ~ — — — | 100kN/mi%#BZ 5 | 1.00 | 1094 ~ 1860 | 126.94 |3mEHEZD -~ — — —
Zh st 100|176 ~ 9.54 100.00 | #nLS | 0.00 ~ 954|223 11.95 Fhs 1.00|5.00 ~ 1094 100.00 | =S | 5.00 ~ 1860 2.23 11.95
6 100kN/M&E#BZ5 | 1.00 | 0.00 ~ 0.43 106.37 |3m&x#EZH| — ~ — — — | 100kN/mi%#BZ % | 1.00 | 1095 ~ 1230 | 106.37 |3mEHEZS -~ — — —
zhLst 1.00 | 043 ~ 822 100.00 | #nst | 000 ~ 822|206 11.00 Zh st 1.00 | 5.00 ~ 1095 100.00 | #ns | 500 ~ 1230| 2.06 11.00
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




